PROJECT: HAWAII BELT ROAD DRAINAGE IMPROVEMENTS

VARIOUS LOCATIONS

PROJECT NO.: 19FGH-03-04M Net Length of Project: STATE OF HAWAII **DEPARTMENT OF ISEMOTO CONTRACTING** ABHE & SVOBODA, INC. JAS W. GLOVER, LTD. H.E.M CONSTRUCTION DISTRICT: North Hilo ISLAND: Hawaii **TRANSPORTATION** COMPANY, INC. COMPANY, INC. HIGHWAYS DIVISION DATE ADVERTISED: Internet Posting - May 25, 2004 **BIDS OPENED:** : June 17, 2004 COMPLETION TIME: ONE HUNDRED TEN (110) WORKING DAYS UNIT PRICE **AMOUNT UNIT PRICE AMOUNT** AMOUNT UNIT PRICE **AMOUNT UNIT USED** UNIT PRICE **AMOUNT** UNIT PRICE QUANTITY ITEM ITEM NO. **MILEPOST 18.61** \$80,000,00 \$204,645.00 L.S. \$250.00 \$20,000.00 L.S. \$5,000.00 L.S. L.S. L.S. L.S. L.S. Clearing and Grubbing 201.0100 \$4,000.00 \$22,000.00 L.S. \$2,000.00 L.S. \$17,000.00 L.S. \$1,980.00 L.S. L.S. L.S. L.S. 202.0440 Removal of Upstream Apron \$900.00 \$12,600.00 \$33,600.00 \$700.00 \$9,800.00 \$210.00 \$2,940.00 \$12,600.00 \$2,400.00 CU YD \$900.00 14 Structure Excavation for Culvert Floor Slab 206,4100 \$3,600.00 \$550.00 \$1,650.00 \$1,200.00 \$1,200.00 \$3.600.00 \$255.00 \$1,200.00 \$3,600.00 CU YD \$85.00 Structure Excavation for Upstream Apron 206.4200 \$1,900.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$3,800.00 \$3,800.00 \$800.00 \$800.00 \$1,900.00 **CUYD** Structure Excavation for Downstream Apron 206.4300 \$10,000.00 FΑ \$10,000.00 FΑ \$10,000.00 FA FΑ \$10,000.00 \$10,000.00 FΑ FA FΑ Water Pollution and Erosion Control 209,1000 \$724.00 \$1,200.00 \$78,000.00 \$325.00 \$21,125.00 \$47,060.00 65 **CUYD** \$375.00 \$24,375.00 \$700.00 \$45,500.00 Concrete in Culvert Flood Void (CLSM) 503.4010 \$32,870.00 L.S. \$32,000.00 L.S. \$80,000.00 L.S. \$90,670.00 L.S. \$105,222.00 L.S. L.S. L.S. 503.1031 Concrete in Culvert Floor Overlay L.S. \$20,000.00 L.S. \$11,400.00 L.S. \$15,200.00 \$4,000.00 L.S. L.S. L.S. L.S. \$3,000.00 503.1032 Concrete in Upstream Apron \$7,600.00 L.S. \$4,000.00 L.S. \$5,000.00 L.S. \$25,000.00 L.S. \$11,890.00 L.S. L.S. L.S. 503.1033 Concrete in Downstream Apron \$2,000.00 \$600.00 \$2,400.00 \$1,400.00 \$5,600.00 \$900.00 \$3,600.00 \$500.00 \$4,000.00 \$1,000.00 Construction Sign with 2 Posts EACH 621.7100 \$15,000.00 \$15,000.00 FA \$15,000.00 FA FA FA \$15,000.00 FA \$15,000.00 FΑ FΑ Additional Police Officers and/or Traffic Control Devices 645.0200 \$10,350.00 \$75.00 \$17.250.00 \$35.00 \$8,050.00 \$45.00 \$6,900.00 \$200.00 \$46,000.00 230 \$30.00 EACH Drilling Holes & Installing Dowel Reinforcing in Culvert 655.0100 Slab Overlay \$1,380.00 \$600.00 \$900.00 \$3,000.00 \$900.00 \$1,800.00 \$690.00 \$800.00 \$1,500.00 SF \$400.00 Type II Spall Repair 676.0200 \$15,000.00 L.S. \$25,000.00 L.S. \$38,000.00 L.S. \$24,162.00 L.S. \$11,700.00 L.S. L.S. L.S. 699,1000 Mobilization (Not to exceed 10% of the sum of all items excluding the bid price of this item, field office and force account items) \$449,065.00 \$153,700.00 \$238,300.00 \$334,975.00 \$290,784.00 Sum of items Sheet No. 1 of 6 Sheets

PROJECT: HAWAII BELT ROAD DRAINAGE IMPROVEMENTS VARIOUS LOCATIONS													
PROJECT NO.: 19FGH-03-04M Net Length of Project:											STATE OF HAWAII		
ISLAND: Ha	waii DISTRICT: North Hilo				ONSTRUCTION PANY, INC.		CONTRACTING	ABHE & S	VOBODA, INC.	JAS W. G	SLOVER, LTD.	DEPAR	RTMENT OF
DATE ADVE	RTISED: Internet Posting - May 25, 2004		j	COIVI	PANY, INC.	COMPANY, INC.		·				TRANSPORTATION HIGHWAYS DIVISION	
BIDS OPEN	ED: July 17, 2004		į						·				
COMPLETIC	COMPLETION TIME: ONE HUNDRED TEN (110) WORKING DAYS			·									
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	MILEPOST 20.52 Clearing and Grubbing	L.S.	L.S.	L.S.	\$3,140.00	L.S.	\$20,000.00	L.S.	\$80,000.00	L.S.	\$75,820.00	L.S.	\$500.00
202.0300	Removal of Portion of Existing Culvert Floor Slab	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$8,000.00	L.S.	\$18,000.00	L.S.	\$4,000.00	L.S.	\$3,800.00
202.0440	Removal of Upstream Apron	L.S.	L.S.	L.S.	\$6,000.00	L.S.	\$1,500.00	L.S.	\$20,000.00	L.S.	\$5,000.00	L.S.	\$11,000.00
206.4100	Structure Excavation for Void in Culvert Floor Slab	8	CU YD	\$1,500.00	\$12,000.00	\$2,400.00	\$19,200.00	\$1,100.00	\$8,800.00	\$490.00	\$3,920.00	\$900.00	\$7,200.00
206.4200	Structure Excavation for Upstream Apron	3	CU YD	\$1,500.00	\$4,500.00	\$1,200.00	\$3,600.00	\$900.00	\$2,700.00	\$1,130.00	\$3,390.00	\$2,200.00	\$6,600.00
209.1000	Water Pollution and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
503.4010	Concrete in Culvert Flood Void (CLSM)	22	CU YD	\$500.00	\$11,000.00	\$700.00	\$15,400.00	\$450.00	\$9,900.00	\$1,030.00	\$22,660.00	\$1,400.00	\$30,800.00
503.1031	Concrete in Culvert Floor Overlay	L.S.	L.S.	L.S.	\$60,400.00	L.S.	\$18,000.00	L.S.	\$60,000.00	L.S.	\$74,400.00	L.S.	\$72,800.00
503.1032	Concrete in Upstream Apron	L.S.	L.S.	L.S.	\$12,000.00	L.S.	\$5,600.00	L.S.	\$28,000.00	L.S.	\$8,600.00	L.S.	\$17,500.00
612.0110	Grouted Rubble Paving Slope Protection	25	CU YD	\$3,000.00	\$75,000.00	\$600.00	\$15,000.00	\$1,100.00	\$27,500.00	\$1,650.00	\$41,250.00	\$450.00	\$11,250.00
621.7100	Construction Sign with 2 Posts	4	EACH	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00	\$1,400.00	\$5,600.00	\$890.00	\$3,560.00	\$500.00	\$2,000.00
645.0200	Additional Police Officers and/or Traffic Control Devices	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
655.0100	Drilling Holes & Installing Dowel Reinforcing in Culvert Slab Overlay	120	EACH	\$30.00	\$3,600.00	\$200.00	\$24,000.00	\$75.00	\$9,000.00	\$40.00	\$4,800.00	\$65.00	\$7,800.00
676.0100	Type I Spall Repair	15	SF	\$120.00	\$1,800.00	\$1,000.00	\$15,000.00	\$250.00	\$3,750.00	\$290.00	\$4,350.00	\$325.00	\$4,875.00
676.0200	Type II Spall Repair	7	SF	\$130.00	\$910.00	\$1,500.00	\$10,500.00	\$500.00	\$3,500.00	\$550.00	\$3,850.00	\$500.00	\$3,500.00
676.0300	Pressure Injection Crack Repair	89	LF	\$60.00	\$5,340.00	\$600.00	\$53,400.00	\$90.00	\$8,010.00	\$170.00	\$15,130.00	\$110.00	\$9,790.00
699.1000	Mobilization (Not to Exceed 10% of the sum of all items excluding the bid price of this item, field office, and force account items)	L.S.	L.S.	L.S.	\$17,310.00	L.S.	\$20,000.00	L.S	\$28,000.00	L.S.	\$27,000.00	L.S.	\$18,511.00
	Sum of items				\$272,000.00		\$266,600.00		\$347,760.00		\$332,730.00		\$242,926.00
								<u> </u>				Shee	t No. 2 of 6 Sheets

PROJECT NO ISLAND: Ha DATE ADVE BIDS OPENE	RTISED: Internet Posting - May 25, 2004				NSTRUCTION ANY, INC.		CONTRACTING PANY, INC.	ABHE & S	VOBODA, INC.	JAS W. C	GLOVER, LTD.	DEPAI TRANS	E OF HAWAII RTMENT OF SPORTATION AYS DIVISION
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0200	MILEPOST 26.49 Removal of Stream Channel Boulders	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$36,000.00	L.S.	\$55,000.00	L.S.	\$22,565.00	L.S.	\$35,000.00
202.0400	Removal of Portion of Existing Downstream Apron	L.S.	L.S.	L.S.	\$750.00	L.S.	\$4,500.00	L.S.	\$12,000.00	L.S.	\$151,930.00	L.S.	\$5,000.00
202.0440	Removal of Upstream Apron	L.S.	L.S.	L.S.	\$1,100.00	L.S.	\$3,000.00	L.S.	\$10,000.00	L.S.	\$125,300.00	L.S.	\$3,000.00
206.4200	Structure Excavation for Upstream Apron	4	CU YD	\$3,200.00	\$12,800.00	\$1,200.00	\$4,800.00	\$600.00	\$2,400.00	\$525.00	\$2,100.00	\$1,200.00	\$4,800.00
206.4500	Structure Excavation for Outlet Structure	84	CU YD	\$300.00	\$25,200.00	\$1,200.00	\$100,800.00	\$200.00	\$16,800.00	\$170.00	\$14,280.00	\$650.00	\$54,600.00
209.1000	Water Pollution and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
503.1031	Concrete in Culvert Floor Overlay	L.S	L.S.	L.S	\$100,000.00	L.S.	\$62,000.00	L.S.	\$165,000.00	L.S.	\$140,650.00	L.S.	\$165,900.00
503.1032	Concrete in Upstream Apron	L.S.	L.S.	L.S.	\$15,000.00	L.S.	\$7,000.00	L.S.	\$32,000.00	L.S.	\$14,300.00	L.S.	\$14,400.00
503.1034	Concrete in Culvert Outlet Structure	L.S.	L.S.	L.S.	\$198,170.00	L.S.	\$165,000.00	L.S.	\$350,000.00	L.S.	\$188,000.00	L.S.	\$270,000.00
621.7100	Construction Sign with 2 Posts	4	EACH	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00	\$1,400.00	\$5,600.00	\$900.00	\$3,600.00	\$500.00	\$2,000.00
636.0400	Field Office (Not to exceed \$32,000.00)	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00	L.S.	\$32,000.00
645.0200	Additional Police Officers and/or Traffic Control Devices	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
653.0100	Grout Bags at Culvert Outlet Structure (CLSM)	138	CU YD	\$500.00	\$69,000.00	\$600.00	\$82,800.00	\$350.00	\$48,300.00	\$400.00	\$55,200.00	\$250.00	\$34,500.00
654.0100	Dumped Riprap at Downstream Apron	120	CU YD	\$600.00	\$72,000.00	\$600.00	\$72,000.00	\$350.00	\$42,000.00	\$600.00	\$72,000.00	\$350.00	\$42,000.00
654.0200	Dumped Riprap at Void in Mauka Streambed	18	CU YD	\$600.00	\$10,800.00	\$600.00	\$10,800.00	\$650.00	\$11,700.00	\$700.00	\$12,600.00	\$350.00	\$6,300.00
655.0100	Drilling Holes and Installing Dowel Reinforcing in Culvert Slab	206	EACH	\$30.00	\$6,180.00	\$200.00	\$41,200.00	\$75.00	\$15,450.00	\$40.00	\$8,240.00	\$45.00	\$9,270.00
699.1000	Mobilization (Not to Exceed 10% of the sum of all items excluding the bid price of this item, field office, and force account items)	L.S.	L.S.	L.S.	\$50,000.00	L.S.	\$54,000.00	L.S	\$75,000.00	L.S.	\$80,000.00	L.S.	\$64,600.00
	Sum of items				\$687,000.00		\$718,300.00		\$913,250.00		\$962,765.00		\$783,370.00 t No. 3 of 6 Sheets

PROJECT: HAWAII BELT ROAD DRAINAGE IMPROVEMENTS VARIOUS LOCATIONS PROJECT NO.: 19FGH-03-04M Net Length of Project: ISLAND: Hawaii DISTRICT: North Hilo DATE ADVERTISED: Internet Posting - May 25, 2004 BIDS OPENED: July 17, 2004 COMPLETION TIME: ONE HUNDRED TEN (110) WORKING DAYS				H.E.M CONSTRUCTION COMPANY, INC.		ISEMOTO CONTRACTING COMPANY, INC.		ABHE & SVOBODA, INC.		JAS W. GLOVER, LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	MILEPOST 27.05 Clearing and Grubbing	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$40,000.00	L.S.	\$80,000.00	L.S.	\$157,280.00	L.S.	\$2,500.00
202.0300	Removal of Portion of Existing CMP Invert, Including Shoring	L.S.	L.S.	L.S.	\$6,000.00	L.S.	\$20,000.00	L.S.	\$45,000.00	L.S.	\$30,700.00	L.S.	\$10,000.00
206.4600	Structure Excavation for Culvert Invert	3	CUYD	\$1,600.00	\$4,800.00	\$2,400.00	\$7,200.00	\$2,400.00	\$7,200.00	\$550.00	\$1,650.00	\$1,900.00	\$5,700.00
209.1000	Water Pollution and Erosion Control	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
503.1036	Concrete in CMP Culvert Overlay	L.S.	L.S.	L.S.	\$15,360.00	L.S.	\$12,000.00	L.S.	\$25,000.00	L.S.	\$33,500.00	L.S.	\$23,000.00
503.1031	Concrete in Culvert Floor Overlay	L.S.	L.S.	L.S.	\$6,000.00	L.S.	\$13,000.00	L.S.	\$12,000.00	L.S.	\$16,530.00	L.S.	\$11,400.00
621.7100	Construction Sign with 2 Posts	4	EACH	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00	\$1,400.00	\$5,600.00	\$900.00	\$3,600.00	\$500.00	\$1,000.00
645.0200	Additional Police Officers and/or Traffic Control Devices	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
676.0100	Type I Spall Repair	9	SF	\$100.00	\$900.00	\$1,000.00	\$9,000.00	\$350.00	\$3,150.00	\$400.00	\$3,600.00	\$325.00	\$2,925.00
676.0200	Type II Spall Repair	24	SF	\$350.00	\$8,400.00	\$1,500.00	\$36,000.00	\$350.00	\$8,400.00	\$500.00	\$12,000.00	\$500.00	\$12,000.00
676.0300	Pressure Injection Crack Repair	6	LF	\$90.00	\$540.00	\$600.00	\$3,600.00	\$260.00	\$1,560.00	\$200.00	\$1,200.00	\$110.00	\$660.00
699.1000	Mobilization (Not to Exceed 10% of the sum of all items excluding the bid price of this item, field office, and force account items)	L.S.	L.S.	L.S.	* \$4,900.00	L.S.	\$14,000.00	L.S.	\$18,000.00	L.S.	\$25,500.00	L.S.	\$6,668.00
	Sum of items				** \$73,900.00		\$177,200.00		\$225,910.00		\$305,560.00	Shor	\$95,853.00 et No. 4 of 6 Sheets

PROJECT: HAWAII BELT ROAD DRAINAGE IMPROVEMENTS

PROJECT N ISLAND: Ha DATE ADVE	ERTISED: Internet Posting - May 25, 2004				ONSTRUCTION PANY, INC.		CONTRACTING PANY, INC.	ABHE & S	VOBODA, INC.	JAS W. G	GLOVER, LTD.	DEPA TRANS	E OF HAWAII RTMENT OF SPORTATION AYS DIVISION
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0450	MILEPOST 28.46 Removal of Portion of Existing Upstream Apron	L.S.	L.S.	L.S.	\$10,000.00	L.S.	\$28,150.00	L.S.	\$9,000.00	L.S.	\$293,640.00	L.S.	\$4,000.00
206.4200	Structure Excavation for Upstream Apron	3	CU YD	\$150.00	\$450.00	\$1,200.00	\$3,600.00	\$800.00	\$2,400.00	\$600.00	\$1,800.00	\$1,200.00	\$3,600.00
209.1000	Water Pollution and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
503.1031	Concrete in Culvert Floor Overlay	L.S.	L.S.	L.S.	\$156,470.00	L.S.	\$70,000.00	L.S.	\$180,000.00	L.S.	\$147,600.00	L.S.	\$203,200.00
503.1032	Concrete in Upstream Apron	L.S.	L.S.	L.S.	\$11,000.00	L.S.	\$13,000.00	L.S.	\$30,000.00	L.S.	\$22,700.00	L.S.	\$24,300.00
621.7100	Construction Sign with 2 Posts	4	EACH	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00	\$1,400.00	\$5,600.00	\$900.00	\$3,600.00	\$500.00	\$2,000.00
645.0200	Additional Police Officers and/or Traffic Control Devices	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
655.0100	Drilling Holes & Installing Dowel Reinforcing in Culvert Slab Overlay	190	EACH	\$30.00	\$5,700.00	\$200.00	\$38,000.00	\$75.00	\$14,250.00	\$50.00	\$9,500.00	\$45.00	\$8,550.00
656.0100	Replace Culvert Joint Material	83	LF	\$60.00	\$4,980.00	\$150.00	\$12,450.00	\$100.00	\$8,300.00	\$150.00	\$12,450.00	\$65.00	\$5,395.00
676.0100	Type I Spall Repair	27	SF	\$100.00	\$2,700.00	\$1,000.00	\$27,000.00	\$250.00	\$6,750.00	\$400.00	\$10,800.00	\$325.00	\$8,775.00
676.0200	Type II Spall Repair	26	SF	\$300.00	\$7,800.00	\$1,500.00	\$39,000.00	\$340.00	\$8,840.00	\$500.00	\$13,000.00	\$500.00	\$13,000.00
676.0300	Pressure Injection Crack Repair	10	LF	\$90.00	\$900.00	\$600.00	\$6,000.00	\$265.00	\$2,650.00	\$200.00	\$2,000.00	\$110.00	\$1,100.00
699.1000	Mobilization (Not to Exceed 10% of the sum of all items excluding the bid price of this item, field office, and force account items)	L.S.	L.S.	L.S.	\$19,000.00	L.S.	\$20,000.00	L.S.	\$25,000.00	L.S.	\$51,000.00	L.S.	\$27,392.00
	Sum of item				\$263,000.00		\$299,600.00		\$332,790.00		\$608,090.00		\$341,312.00
												Sheet	No. 5 of 6 Sheets

PROJECT NO ISLAND: HE DATE ADVE	PROJECT: HAWAII BELT ROAD DRAINAGE IMPROVEMENTS VARIOUS LOCATIONS PROJECT NO.: 19FGH-03-04M Net Length of Project: ISLAND: Hawaii DISTRICT: North Hilo DATE ADVERTISED: Internet Posting - May 25, 2004 BIDS OPENED: June 17, 2004 COMPLETION TIME: ONE HUNDRED TEN (110) WORKING DAYS				H.E.M CONSTRUCTION COMPANY, INC.		ISEMOTO CONTRACTING COMPANY, INC.		ABHE & SVOBODA, INC.		JAS W. GLOVER, LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
	Sum of all items (Milepost 18.61)				** \$153,700.00		\$238,300.00		\$334,975.00		\$449,065.00		\$290,784.00	
	Sum of all items (Milepost 20.52)				\$272,000.00		\$266,600.00		\$347,760.00		\$332,730.00		\$242,926.00	
	Sum of all items (Milepost 26.49)				\$687,000.00		\$718,300.00		\$913,250.00		\$962,765.00		\$783,370.00	
	Sum of all items (Milepost 27.05)		-		** \$73,900.00		\$177,200.00		\$225,910.00		\$305,560.00	·	\$95,853.00	
	Sum of all items (Milepost 28.46)				\$263,000.00		\$299,600.00		\$332,790.00		\$608,090.00		\$341,312.00	
	Sum of all items				** \$1,449,600.00		\$1,700,000.00		\$2,154,685.00		\$2,658,210.00		\$1,754,245.00	
	Hawaii Products				(\$5,055.84)		(\$3,500.00)		\$0.00		(\$8,326.45)		\$0.00	
1	Amount for Comparision of Bids				** \$1,444,544.16		\$1,696,500.00		\$2,154,685.00		\$2,649,883.55		\$1,754,245.00	
	* Mobilization Exceeded Allowable Limit													
	** Corrected Figure													
:		:												
<u> </u>														
	Project Manager: Roy Shioji Date: September 13, 2004						2							
						1				<u></u>			t No. 6 of 6 Sheets	

Sheet No. 6 of 6 Sheets